R 2032

IV Semester 5 Year B.A., LL.B. (Maj.-Min. System) Examination, Nov./Dec. 2020
POLITICAL SCIENCE - VI (Major — 6)
International Relations and Organization

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question No. 9 and any five of the
remaining questions.

2. Q.No.9carries 20 marks and remaining questions
carries 16 marks each.

3. Answers should be written completely either in
English or in Kannada.

Q. No. 1. Define ‘Nationality’ and explain the factors that promote

nationality. Marks : 16
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Q. No. 2. Define ‘National Power' and explain the important elements
of National Power. Marks : 16
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Q. No. 3. Explain the meaning, need, kinds and limitations of
Disarmament. Marks : 16
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Q. No. 4. Explain with illustrations the different methods of peaceful
settlement of International Disputes. Marks : 16
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Q. No. 5. Define ‘International Law’ and explain its sources and
limitations. Marks : 16
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Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.
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Explain the formation and causes for the failure of the League

of Nations.

Marks : 16
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What is meant by ‘Balance of Power' ? Explain the techniques

of maintaining ‘Balance of Power’.

Marks : 16
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Answer any two of the following short notes :
(a) Non-alignment.

(b) Gilobalization.

(c) Collective security.
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Answer any two of the following short questions :

(a) Reasons for the growth of ‘Internationalism’.
(b) SAARC.

(c) Role of ‘Alliances’ at war and peace.
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Marks : 2x8=16

Marks : 2x10=20




